CH-03

December — Examination 2022

B.Sc. (Part I) Examination

CHEMISTRY
(Physical Chemistry)
Paper : CH-03

Time : 3 Hours | [ Maximum Marks : 35

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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Prove that :

log 200 = 21og 5 + 31og 2
fag wifsT .

log 200 = 21og 5 + 31log 2
What do you mean by MICR ? Explain.
MICR ¥ &9 1 99ed € 7 aaBy|
Explain root mean square velocity.
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What do you mean by mesomorphic state ?
Give example.
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Define law of rational indices.
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Define Emulsification. Give example.
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(vii) Find out the unit of rate constant for the zero

Note —

2. (1)

(ii)

order reaction.
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Section-B 4x3%.=14
(Short Answer Type Questions)
Answer any four questions. Each answer should not
exceed 200 words. Each question carries 3% marks.
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Explain the differences between Inkjet printers

and Laser printers.
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What do you understand by Computer

Programming ?
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. Differentiate the following function with respect to

X .
y=x+x2+2
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y=x+x2+2

. Explain the critical temperature and critical

pressure of gas. Explain with mathematical
formula.
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. What is Liquid Crystal ? Explain the characters

of Nemactic crystals and Smectic crystals with
suitable examples.
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. Explain the following terms with suitable

examples :

(1) Weiss indices

(i1)) Miller indices
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7. Explain the cleansing mechanism of soap and 10.(1) Convert the following binary numbers into

detergents. decimal numbers :
e[ o SAUHISIR i STYHISH fRafafy #1 aHemsu (@ (111),
8. Derive Bragg’s equation and write its applications. (b)  (100001),
U N 2R 5 TEd S fefeT Frafafed st Tt & Symad Jewed |
: afafaa wifey :
9. Write the names of experimental methods for
(@ (111),

chemical kinetics. Explain any one method out of
(b) (100001),

them.
SRR S S S VS S O G (i1)) Convert 331 into binary number.
i @ fedt we oty @ guEmE 331 1 fgefeia yomelt § 9Refda s
Section—C 2x7=14 (i11) What do you mean by bit and byte ? 1 MB
(Long Answer Type Questions) will equivalent to ............... Byte.
Note .— Answer any two questions. You have to delimit fre @ @we & o ® owEEd ¥ 7 1 MB
your each answer maximum up to 500 words.  TTYTYTOYT e F SR EA
Each question carries 7 marks. 11.(A) Prove that kinetic energy of one mole will be
3
wrs—w equivalent to 5 kT.
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(B) Calculate the kinetic energy of 2 mole of (B) Write a short note on the role of activation

nitrogen gas at 150°C. (R = 8.314 x 107 erg energy in chemical reactions.
per degree per mole in CGS units) qfsFa0r F w At sfatweeT H o yfe
150°C W 2 Aid E2ed 9 &t Tfast ol T gfyra feoqeit fafe|

o it (R = 8.314 x 107 swi wfa feum
fg Wt CGS #rs #)

12. Write short notes on the following with examples :
(i) Dialysis and Electrodialysis
(i1)) Electrophoresis
(ii1) Hardy-Schulze Law
frefafed w= wfya femforal seee wfea fafem
(i) earRd o9 foara eTdRd
(i) oga wu Goe
(iii) BEi—yos Fram
13.(A) Write the name of different methods for the

determination of order of reaction. Explain

the integration rate method.
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